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..so is it best to use Pythagoras or Trigonometry to find the missing lengths and angles? Can you try using both methods? Do you get the same answers?
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These are the trig ratios for common angles.  How are you going to learn and remember them? Can you draw triangles and lable them correctly for each angle and ratio (sin,cos,or tan)
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Can you use trig and pythagoras in 3D ?







What is the straight line distance a diver has to swim to the coral reef from point A?



A
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[image: ]What happens to the angle when you move nearer the tree ?

For different tree heights what happens to the angle if you stay 43m away?










Can you label the 3 sides correctly with opp, adj and hyp ?
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How do we find the tree height?
What type of ratio are we using (sin, cos or tan?)










Can you find the angles in the triangle?
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[image: ]Measure the angles with a protractor.

Find the missing actual side lengths.
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Can you solve this exam question before he does and find the height of the ballon?





[image: ][image: ][image: ][image: ][bookmark: _GoBack]What is the difference between pythagoras theorem and trigonometry?
What do you use them for?
Think about how you can use the ‘15’ and ‘17’. What are these numbers?
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Work out the missing length, x.

Work out the missing length, x.

Work out the shaded segment.

Find the area of the triangle below.
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Find the missing angle, x.
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Calculate the angle that
the foot of ladder makes
with the ground.
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for the right, square-based pyramid shown,
calculate the angle between
the edge VA and the base, ABCD
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for the door wedge shape (triangular prism)
calculate the length of the diagonal PT
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Similar Triangles for Height

Similar Triangles are used to
determine the Height of tall
objects using shadow lengths.
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TRIGONOMETRY APPLICATIONS

e.g. Aladder 4.7 mlong is

Wall
leaning against a wall. The [€5)
angle between the wall and A
ladder is 27°. Ladder (4.7m)
' ) =00s27 x4.7
Draw a diagram and find the i_ :0159 mx 24
height the ladder extends up o 2dp)
the wall.
A e.g. Avertical mast is held by a
ﬂ 48 m long wire. The wire is
H attached to a point 32 m up
the mast.
20 Bm osa=a2-48
A A =cos"(32 + 48) Draw a diagram and find the

A=482°(1dp.)

angle the wire makes with
the mast.
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Find sin %, cos X, , and tan X > from the given information.
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The diagram below shows a right-angled triangle with sides of length 3 cm, 4 cm, and 5 cm.
The angle P is marked.

5
3
4
(i) What is the length of the hypotenuse? Hypotenuse =
(i) What is the length of the side adjacent to the angle P? Adjacent =

(iii) Write down cos P as a fraction. cosP =




